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Objective: Interpret remainders from division as whole numbers, fractions, or by
rounding as appropriate to the context

Year 6 Task:

Plastic cups are sold in packs of 8

Amir needs 27 cups.

How many packs must he buy?

KS2 SATs question

Open Government Licence v3.0 found on the National Archives website and accessed via the following link:
www.nationalarchives.gov.uk/doc/open-government-licence

Worked example
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Variation

What if the cups were sold in packs of 12 and Amir needed 117 cups? How many packs
of cups would Amir need to buy?

Show your workings here:

Answer: Amir would need 10 packs of cups

What if the cups were sold in packs of 14 and Amir needed 165 cups? How many packs
of cups would Amir need to buy?

Show your workings here:

Answer: Amir would need 12 packs of cups
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